[t is essential to understand how price is determined. Since this is done in the market, we can define the
market simply as all those buyers and sellers of a good or service who influence price.

=

The elements Qf a_warket are:

% Buyers and sellers;

% A product or service;
% Bargaining for a price;
% Knowledge about market conditions; and

% One price for a product or service at a given time.

Markets are generally classified into product markets and factor markets. Product markets are markets
for goods and services in which households buy the goods and services they want from firms. Factor
markets, on the other hand, are those in which firms buy the resources they need - land, labour, capital
and entrepreneurship- to produce goods and services. While product markets allocate goods to
consumers, factor markets allocate productive resources to producers and help ensure that those
resources are used efficiently. The prices in factor markets are known as factor prices.

In Economics, generally the classification of markets is made on the basis of:
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Geographical Area
Time

Nature of transaction
Regulation

Volume of business
Type of Competition.

ON THE BASIS OF GEOGRAPHICAL AREA:

e

From the marketing perspective, the geographical area in which the product sales should be
undertaken has vast implications for the firm.

On the Basic of Area of
Region

v Local Mavkets: When buyers and sellers are limited to a local area or region, the market is

called a local market. Generally, highly perishable goods and bulky articles, the transport of
which over a long distance is uneconomical’ command a local market. In this case, the extent of
the market is limited to a particular locality. For example, locally supplied services such as those
of hair dressers and retailers have a narrow customer base.

v Reglonal Markeets: Regional markets cover a wider area such as a few adjacent cities, parts of

states, or cluster of states. The size of the market is generally large and the nature of buyers may
vary in their demand characteristics.

v National Marlkeets: When the demand for a commodity or service is limited to the national

boundaries of a country, we say that the product has a national market. The trade policy of the
government may restrict the trading of a commodity to within the country. For example Hindi
books may have national markets in India; outside India one may not have market for Hindi
books.
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Alfred Marshall conceived the ‘Time’ element in markets and on the basis of this, markets are classified
into:

asis of Time

v Yery short _pg[r',ad markeet: Market period or very short period refers to a period of time in

which supply is fixed and cannot be increased or decreased. Commodities like vegetables, flower,
fish, eggs, fruits, milk, etc., which are perishable and the supply of which cannot be changed in
the very short period come under this category. Since supply is fixed, very short period price is
dependent on demand. An increase in demand will raise the prices vice versa.

v Sk}Qr_t—_pg[f,Qd Maylket: Short period is a period which is slightly longer than the very short

period. In this period, the supply of output may be increased by increasing the employment of
variable factors with the given fixed factors and state of technology. Since supply can be
moderately adjusted, the changes in the short period prices on account of changes in demand are
less compared to market period.

v ngg—pgﬂgd Markeet: In the long period, all factors become variable and the supply of

commodities may be changed by altering the scale of production. As such, supply may be fully
adjusted to changes in demand conditions. The interaction between long run supply and demand
determines long run equilibrium price or ‘normal price’.

v very Long-period or secular period: Very long-period or secular period is one when secular

movements are recorded in certain factors over a period of time. The period is very long. The
factors include the size of the population, capital supply, supply of raw materials etc.
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ON THE BASIC OF NATURE OF TRANSACTIONS:

o Spot or cash Market: Spot transactions or spot markets refer to those markets where goods
are exchanged for money payable either immediately or within a short span of time.

% Forward or Future Markeet: In this market, transactions involve contracts with a promise to
pay and deliver goods at some future date.

O 9

Spot Market Futures Market

On the Basis of Nature of
Transactions

ON THE BASIC OF REGULATION:

o Regulated Market: In  this  market,

transactions are statutorily regulated so as to
put an end to unfair practices. Such markets
may be established for specific products or
for a group of products Eg. Stock Exchange.

o Unregulated Market: It is also called a

free market as there are no stipulations on
the transactions.

% Wholesnle  Marlkeet: The wholesale

market is the market where the
commodities are bought and sold in bulk
or large quantities. Transactions generally
take place between traders.

& r=etall Market: When the commodities

are sold in small quantities, it is called
retail market. This is the market for
ultimate consumers.

On the Bas:c of Volume of

Rucinecs
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ON THE BASIC OF COMPETITION:

nthet wapetitlon ma Lo

«» perfectly competitive market and
¢ imperfectly competitive market.

On the basic of competition

Quick
Notes

Feel free to
L note your
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TOPIC -1

On the basis of nature of transaction, a market may be classified into:

a) Spot market and future market b) Regulated market unregulated market
c) Wholesale market and retail market d) Local market and national market
e)

uestion 2

The market for ultimate consumer is known as:

a) Wholesale market b) Regulated market
c¢) Unregulated market d) Retail market
e)

Markets refers to those markets where goods are exchanged for money payable either
immediately or within a short span of time

a) Spot Market b) Retail market

c¢) Wholesale market d) None

uestion 4

In very short period market

a) Supply changes but demand remains b) Supply changes but price remain some
same
c) Supply remains fixed d) Supply and demand both change
e)

On the basis of nature of transaction, a market may be classified into
a) Regulated and unregulated market b) Wholesale and retail market
c) Spot market and Future market d) National and international market

uestion 6
Which one is not a part of the elements of market?
a) Buyers and sellers b) A product of services

c) Bargaining for a price d) Volume of a business

Answer: 1(a), 2(d), 3(a), 4(c), 5(c), 6(d)
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A market consists of those firms from which he can buy a well-defined product; for a producer, a
market consists of those buyers to whom he can sell a single well-defined product.

oo Pﬁdﬁgt g;amgpgt’gt’mw; Perfect competition is characterized by many sellers selling identical
products to many buyers.

% Mownppolistic Cowmpetitipn: It differs in only one respect, namely, there are many sellers

offering differentiated products to many buyers.
* MMQ&L‘@_ [t is a situation where there is a single seller producing for many buyers. Its product

is necessarily extremely differentiated since there are no competing sellers producing products
which are close substitutes.

oo QLI@_@QL@‘ There are a few sellers selling competing products to many buyers.

Number of firms

Many firms

one firm Types of products

Differentiated
products

Identical
products

Monopoly Oligopoly Monopolistic Perfect
o Competition Competition
Airlines
water : agriculture
tap. ate mas.s movies products
railways media novels internet
computers restaurants related
——Quick/"
Notes
Feel free to
houghnn
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TOPIC -2

An industry with significant barriers to entry and a single supplier
a) Perfect competition b) Monopolistic competition
c) Oligopoly d) Monopoly

A highly concentrated market with just a few interdependent firms
a) Perfect competition b) Monopolistic competition
c) Oligopoly d) Monopoly

Answer: 1(d), 2(c)

MARGINAL REVENUE
5|:| W
as ’ TR
40
_ nz Total
Prico | Rs) o RE';;'E‘i]LJE‘

0 Tetal
15 } Heswenue
1o (]

o

010 20 50 40 S0 &0 70 80 90 Dllt;mt Sﬂld ;,:;

Cuanil by

Total Revenue

Total Revenue: Total revenue or the total expenditure incurred by the purchasers of the firm’s

product refers to the amount of money which a firm realises by selling certain units of a commodity.
Symbolically, total revenue may be expressed a

TR=PxQ.

Where, TR is total revenue, P is price, Q is quantity of a commodity sold.

Avernge Revewnue: Average revenue is the revenue earned per unit of output. It is nothing but price of
one unit of output because price is always per unit of a commodity.
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For this reason, average revenue curve is also the firms demand curve. Symbolically, average revenue
is:

AR =TR/Q
Where
* AR is average revenue
* TRis the total revenue
* Qis quantity of a commodity sold
OR
P
AR = %Q or AR=

Marginal Revene: Marginal revenue (MR) is the change in total revenue resulting from the sale of

an additional unit of the commodity.
Where
__ATR

AQ

MR

MR is marginal revenue,

TR is total revenue,

Q is quantity of a commodity sold
A Stands for a small change

* ¥ X %

For one unit change in output

MR, = TR, -TR,_;

* Where TR is the total revenue when sales are at the rate of n units per period.
* TR n-1is the total revenue when sales are at the rate of (n - 1) units per period.

Quick
Notes
Feel free to

note your
thought.....
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Units Total Revenue Average Revenue | Marginal Revenue
1 10 10 10
2 18 9 8
3 24 8 6
4 28 7 4
5 30 6 2
6 30 5 0
7 28 4 -2
8 24 3 -4
9 18 2 -6

10 10 1 -8
- (A

REVENUE

o T =2 o5 = = e~_7

S I TIEUT [ =

Total Revenue, Average Revenue and Marginal Revenue Curves of a firm which has
downward sloping Demand Curve.

Quick/'

Notes

Feel free to
note your
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TOPIC -3

Average revenue curve is also known as:
a) Profit Curve b) Demand Curve
c) Average Cost Curve d) Indifference Curve

Which is the first order condition for the firm to maximize the profit?
a) AC=MR b) MC=MR
c) AC=AR d) MR=AR

If the price of a commodity is fixed then every increase in its sold quantity the total Will__and
marginal revenue will----

a) Increase also increase b) increase, decline

c) Increase, remain unchanged d) remain fixed, increase

Assume that when price is 20 the quantity demanded is 9 units and when price is 19The
quantity demanded is 10 units based on this information what is the marginal revenue resulting
from an increase in output from 9 unit to 10 units?

a) 20 b) 19
c) 10 d) 1
Question 5
Ife>1,
a) MR will be negative b) MR will be highly negative
c) MR will be positive d) MR will be highly positive

e)

ABC Itd realizes total revenue of Rs. 6,000 by the sale of 120 units and Rs. 6050 by the sale of 121
units. What is the average revenue when ABC Itd sells 121 units

a) 6000 b) 6050

c) 50 d) 100

In the market structure, demand curve is also known as:
a) Marginal cost curve b) Average revenue curve
c) Total production curve d) Marginal utility curve
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Total revenue curve initially increases at a diminishing rate due to __

a) Diminishing average revenue curve b) Diminishing n=marginal revenue curve
c) Diminishing average fixed revenue d) Diminishing cost curve
curve

Answer: 1(d), 2(b),3(c),4(c),5(c),6(c),7(b),8(b)

RELATIONSHIP BETWEEN AR, MR, TR AND PRICE ELASTICITY OF

&% MR= AR X %, Where e = price elasticity of demand
% Thusife=1,MR= AR x — = 0.

& andife >1, MR will be positive
& and ife <1, MR will be negative

A

H MR curve
(1]
N Gupn x
Lationship between ME, wd Price Elasticit Demand

Quick
Notes
Feel free to

note your
thought.....
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TOPIC -4

Which of the following is correct?
a) MR=AR(e-1) /e b) MR=AR(e+1) /e
c) MR=AR(1-e) /e d) None

Answer: 1(a)

BEHAVIOURAL PRINCIPLES:

+ E[f,wci_ptg 1- A firm should not produce at all if its total variable costs are not met.

If price (AR) is greater than minimum AVC, but less than minimum ATC, the firm covers its
variable cost and some but not all of fixed cost. If price is equal to minimum ATC, the firm covers
both fixed and variable costs and earns normal profit or zero economic profit. If price is greater
than minimum ATC, the firm not only covers its full cost, but also earns positive economic profit
or super normal profit.

+ E[f,wci_ptg 2 - The firm will be making maximum profits by expanding output to the level where

marginal revenue is equal to marginal cost. In other words, it will pay the firm to go on
producing additional units of output so long as the marginal revenue exceeds marginal cost i.e.,
additional units add more to revenues than to cost. At the point of equality between marginal
revenue and marginal cost, it will earn maximum profits.

Corst

Revenus

» Ottt

Eaudtlibrivm of the firme: Maximization rofit
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TOPIC -5

Where firms earn normal profit
a) MR=AR b) MC=MR
c) AC=AR d) NONE

If the average cost is higher than the average revenue, then the firm incurs

a) Normal profit b) Abnormal profit
c¢) Loss d) No profit no loss
Question 3
A firm should not produce at all if it’s total......... costs are not met
a) Variable b) fixed
c) Both d) None

Answer: 1(c), 2(c), 3(a)

Quick |
Notes
Feel free to

note your
thought.....
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Prices of goods express their exchange value. Prices are also used for expressing the value of various
services rendered by different factors of production such as land, labour, capital and organization in the
form of rent, wages, interest and profit.

In an open competitive market, it is the interaction between demand and supply that tends to
determine equilibrium price and quantity. In the context of market analysis, the term equilibrium refers
to a state of market in which the quantity demanded of a commodity equals the quantity supplied of the

commodity.

S.No Price | Demand | Supply 8
(Rs.) units | (Units) ¢
1 1 60 5 o]
2 2 35 35 &
3 3 20 45 :
4 4 15 55 T s D
5 5 10 65 e & kW w W

Determination of Equilibrium Price

www. KITest.in 15




CHANGES IN DEMAND AND SUPPLY:

The above analysis of market equilibrium was done by us under the ceteris paribus assumption. The
facts of the real world, however, are such that the determinants of demand other than price of the
commodity under consideration (like income, tastes and preferences, population, technology, prices of
factors of production etc.) always change causing shifts in demand and supply. Such shifts affect
equilibrium price and quantity. The four possible changes in demand and supply are:

%+ A lncrepse (shift to the vight) in demand:
The original demand curve of a normal good is DD and supply curve is SS. At equilibrium price
OP, demand and supply are equal to OQ.

AL

7

WG Lt Demang, ¢ tng an Ling L eauilibrivum price angd auantit

* A deovense (shiftto the left) in dewmana:
The opposite will happen when demand falls as a result of a fall in income, while the supply
remains the same. The demand curve will shift to the left and become D1D1 while the supply
curve remains as it is. With the new demand curve D1D1, at original price OP, 0Q2 is demanded
and 0Q is supplied.

Decrease in Demand Resulting in a Decrease in Price and Quantity Demanded

% A lncrense (shift to the vight) in Supplig:
Let us now assume that demand does not change, but there is an increase in supply say, because
of improved technology.
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PRICE
T

c Qo G X

Increase in supply, Resulting in Decrease in Equilibrium Price and Increase in Quantity Supplied

* A decrease (shift tothe Left) bn supply,
If because of some reason, there is a decrease in supply we will find that equilibrium price will
go up, but the amount sold and purchased will go down.

4 o B s
E1'
P| """""" :.I'
" e
& = .
=1
o Y x
QUANTITY
CYease tn su causing an tnerease tn the Egulilibrivmwme Price and a foll in @uantit
MWLAN

SIMULTANEOUS CHANGES IN DEMAND AND SUPPLY

We were considering the effect of a change either in demand or in supply on the equilibrium price and
quantity sold and purchased. It sometimes happens that events shift both the demand and supply
curves at the same time.

A o § vi? o S 8 vyl D, 0 8 %
& &P & ¢ P N
TP E1 = Dy TRy / 1
Dy s D
D S 8~
o Q_Q X o a_a
QUANTITY | quantry ' © cunry & X
@ ®) o

Simultaneous Chanaoe tn Demangd angd Suppl
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What is the effect on equilibrium price and quantity when both demand and supply decrease
We can summarise the two possible outcomes when the supply and demand curves shift in the same
direction as follows:

v" When both demand and supply increase, the equilibrium quantity increases but the change in
equilibrium price is uncertain.

v" When both demand and supply decrease, the equilibrium quantity decreases but the change in
equilibrium price is uncertain.

Prics In Fis

Prical in Ry)

1
| o
1

I

a ° o Q X
Dty demanded and Supslied fia Units) Quantity demanded and Supplied [in Unita)
(a) {b}
Effect on Eauilibrivun Price an antity whew Dewand and Suppl Curves shift in

Qp_pa,gitﬁ Directions

Quick
Notes
Feel free to

note {‘our
thought.....
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TOPIC -1

When both demand and supply increase the equilibrium quantity increases but the Change in
equilibrium price is uncertain

a) Both demand & supply curve shift b) both demand & supply curve shift in left
in right
c) both demand & supply curve shifts In d) None

same direction

An increase in demand and an increase in supply will:

a) Affect equilibrium quantity in an b) Affect price in an indeterminate way
Indeterminate way and price will and quantity will decrease
decrease
c) Affect price in an indeterminate way and d) Affect equilibrium quantity in an
Quantity will increase indeterminate way and price will
increase

What combination of changes would most likely decrease the equilibrium quantity?

a) When supply but demand remains same b) Supply changes but price remains same
c¢) When supply increases and demand d) When supply decreases and demand
Increase decreases

If the supply of a commodity does not change then with every increase in demand
Rise will

a) Remain same b) Increase

c) Decrease d) Becomes zero

a) Increase b) Decrease
c) Remain unchanged d) Becomes zero

Answer: 1(c), 2(d),3(d),4(b),5(b)
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P

We are analyzing the market for good Z. the price of a complement good, goods Y Decline At the
same time there is a technological advance in the production of good Z What point figure 1 is
most likely to be the new equilibrium price and quantity?

a) Point 4 b) Point 5

c) Point7 d) Point8

Heavy rain in Maharashtra during 2005 and 2006 caused havoc with the rice crop. What point in
figure 1 is most likely to be the new equilibrium price and quantity?

a) Point6 b) Point 3
c) Point7 d) Point8
e)

Heavy rain in Maharashtra during 2005 and 2006 caused havoc with the rice crop. What point in
figure 1 is most likely to be the new equilibrium price and quantity?

a) Point6 b) Point 3

c) Point7 d) Point 8

Answer: 1(c), 2(d), 3(d),4(b),5(b),6(c),7(b),8(b)

Quick
Notes
Feel free to

note your
thought.....
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In general, a perfectly competitive market has the following characteristics:

v' There are large number of buyers and sellers who compete among themselves. The number is so
large that the share of each seller in the total supply and the share of each buyer in the total
demand is too small that no buyer or seller is in a position to influence the price, demand or
supply in the market.

v The products supplied by all firms are identical or are homogeneous in all respects so that they
are perfect substitutes. Thus, all goods must sell at a single market price. No firm can raise the
price of its product above the price charged by other firms without losing most or all of its
business.

Perfect Competition

m Market
)

initiate the buying and selling mechanism

- - Buyers
no restrictions

Absence of Direct Competition

Sellers K .

Sells product at identical
market price

v Every firm is free to enter the market or to go out of it. There are no legal or market related
barriers to entry and also no special costs that make it difficult for a new firm either to enter an
industry and produce, if it sees profit opportunity or to exit if it cannot make a profit.

v There is perfect knowledge of the market conditions on the part of buyers and sellers. Both
buyers and sellers have all information relevant to their decision to buy or sell such as the
quantities of stock of goods in the market, the nature of products and the prices at which
transactions of purchase and sale are being entered into.

v’ Perfectly competitive markets have very low transaction costs. Buyers and sellers do not have to
spend much time and money finding each other and entering into transactions.
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v" Under prefect competition, all firms individually are price takers. The firms have to accept the
price determined by the market forces of total demand and total supply.

PRICE DETERMINATION UNDER PERFECT COMPETITION

Equilibrivm of the | wdugtqé: An industry in economic terminology consists of a large number of

independent firms. Each such unit in the industry produces a homogeneous product so that there is
competition amongst goods produced by different units.

hi
D
5 e
o P
=] D
O Q X

OUTPUT
Equilibrivum of a Competitive tndust

Egquilibrivm of t Lyt The firm is said to be in equilibrium when it maximizes its profit. The

output which gives maximum profit to the firm is called equilibrium output. In the equilibrium state, the
firm has no incentive either to increase or decrease its output.

{&) Markst v (b} Indhvidual Seller
8 ]
[
o
) R ¥ D/ARMR
7]
Q
& S D
QUANTITY © QuANTITY N M X

T trv’s demand curve wader perfect competition
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conditions for equiltbrivim of a firv: As discussed earlier, a firm, in order to attain equilibrium

position, has to satisfy two conditions as below:

e The marginal revenue should be equal to the marginal cost. i.e. MR = MC. If MR is greater than
MC, there is always an incentive for the firm to expand its production further and gain by selling
additional units. If MR is less than MC, the firm will have to reduce output since an additional
unit adds more to cost than to revenue. Profits are maximum only at the point where MR = MC.

e The MC curve should cut MR curve from below. In other words, MC should have a positive slope.

SHORT-RUN PROFIT MAXIMIZATION BY A COMPETITIVE FIRM

We shall begin with the short-run output decision and then move on to the long run. In the short run, a
firm operates with a fixed amount of capital and must choose the levels of its variable inputs so as to

maximize profit.

LLF
=
W MARKET {INDUSTRY) = h'd FIRM
= E M
Y \ 5
= 8
Pl N e ——————— F_' T R AR =MR
D
F=
o % ©
QUAMTITY Q1 pguTPUT G2 x
Eguilibrivum position L wndler perfect competition

SHORT RUN SUPPLY CURVE OF THE FIRM IN A COMPETITIVE

One interesting thing about the MC curve of a firm in a perfectly competitive industry is that it depicts

the firm'’s supply curve.
Y
Py = 5.00

P3=4.00

Py = 3.00

Fi = 2.00

aroinal cost and supplid cu a price-taking flyrma
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CAN A COMPETITIVE FIRM EARN PROFIT?

Supernorimal P[Qﬂtg: There is a difference between normal profits and supernormal profits.

When the average revenue of a firm is just equal to its average total cost, a firm earns normal
profits or zero economic profits. It is to be noted that here a normal percentage of profits for the
entrepreneur for his managerial services is already included in the cost of production. When a
firm earns supernormal profits, its average revenues are more than its average total cost. Thus,
in addition to normal rate of profit, the firm earns some additional profits.

Y MC
# :." ATC
T . / y
P 5 AR=MR=FP
A
) o
Q QUANTITY
UN tlibyiuvimn: normal Lt a_covapetitive firm

Normal _pmﬁtg: When a firm just meets its average total cost, it earns normal profit. Here AR =

ATC.
ki
MC
& H
i \.- I P =AR=MR
o Q OUTPUT x
S un eautlibrivm of a competitive firm: mal L

Lopsses: The firm can be in an equilibrium position and still makes losses. This is the situation when the

firm is minimizing losses. For all prices above the minimum point on the AVC curve, the firm will stay
open and will produce the level of output at which MR = MC. When the firm is able to meet its variable
cost and a part of fixed cost, it will try to continue production in the short run.
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un eautlibrivum competitive flrme: Los

In the long run, firms can alter the scale of operation or quit the industry and new firms can enter the
industry. In a market with entry and exit, a firm enters when it believes that it can earn a positive long
run profit and exits when it faces the possibility of a long-run loss. Firms are in equilibrium in the long
run when they have adjusted their plant so as to produce at the minimum point of their long run ATC
curve, which is tangent to the demand curve defined by the market price. In the long run, the firms will
be earning just normal profits, which are included in the ATC.

%
E|=-

FIAM

INDUSTHY

£

(a) (b)

Long run eauilibrivum W LA 3 ctl yADeLLELVE WM

A long-run competitive equilibrium of a perfectly competitive industry occurs when three conditions
hold: All firms in the industry are in equilibrium i.e. all firms are maximizing profit. No firm has an
incentive either to enter or exit the industry because all firms are earning zero economic profit or
normal profit.
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F= LMC
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s
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P=AR=NKR
© ° L] outPUT ¢
Lond run eauilibrivme C titive ingdust nd s flrm

In the long run, under perfect competition, the market mechanism leads to optimal allocation of
resources. The optimality is shown by the following outcomes associated with the long run equilibrium
of the industry:

¢ The output is produced at the minimum feasible cost.

¢ Consumers pay the minimum possible price which just covers the marginal cost i.e. MC = AR. (P
= MCQC).

% Plants are used to full capacity in the long run, so that there is no wastage of resources i.e. MC =
AC.

¢ Firms earn only normal profits i.e. AC = AR.
¢ Firms maximize profits (i.e. MC = MR), but the level of profits will be just normal.
¢ There is optimum number of firms in the industry.

¢ In other words, in the long run, LAR = LMR = P = LMC = LAC and there will be optimum
allocation of resources.

Quick
Notes
Feel free to

note Kour‘
thought.....
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TOPIC -1

Under perfect competition firm is described as:
a) Price taker and not maker b) price maker and not price taker
¢) neither price maker nor price taker d) None of the above

Under which of the following forms of market structure does a firm have no control over the
Price of its product:

a) Monopoly b) Monopoly Competition

c) Oligopoly d) Perfect Competition

The price elasticity of demand for a product is infinite under:
a) Perfect competition b) Monopoly
c) Monopolistic competition d) Oligopoly.

Under which Market situation demand curve is linear and parallel to X axis:

a) Perfect competition b) Oligopoly
c) Monopolistic competition d) An industry consist of many firms
e)

MR Curve = AR = Demand Curve is a feature of which kind of market?
a) Perfect competition b) Oligopoly
c) Monopolistic competition d) Monopoly

In long run a perfectly competitive firms earns
a) Normal Profits b) Abnormal Profits
c) Super normal profits d) Neither profits nor losses

Answer: 1(a), 2(d), 3(a),4(a),5(a),6(a)
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The word ‘Monopoly’ means “alone to sell”. Monopoly
is a situation in which there is a single seller of a
product which has no close substitute. Pure monopoly
is never found in practice. However, in public utilities
such as transport, water and electricity, we generally
find a monopoly form of market.

+ Single seller of the product: In a monopoly market, there is only one firm producing or

supplying a product. This single firm constitutes the industry and as such there is no distinction
between firm and industry in a monopolistic market. Monopoly is characterized by an absence of
competition

+ Barriers to Ewt[g: In a monopolistic market, there are strong barriers to entry. The barriers to
entry could be economic, institutional, legal or artificial.

+ Npo clpse-substitutes: A monopoly firm has full control over the market supply of a product or

service. A monopolist is a price maker and not a price taker. The monopolist generally sells a
product which has no close substitutes. In such a case, the cross elasticity of demand for the
monopolist’s product and any other product is zero or very small. The price elasticity of demand
for monopolist’s product is also less than one. As a result, the monopolist faces a steep
downward sloping demand curve.

+ Market power: A monopoly firm has market power i.e. it has the ability to charge a price above
marginal cost and earn a positive profit.

Just One = “ No
Supplier 7888 9 JCompetition

Monopolist
Controls to Enter
Price the Market
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HOW DO MIONOPOLIES ARISE?

The fundamental cause of monopoly is barriers to entry; in effect other firms cannot enter the market. A
few reasons for occurrence and continuation of monopoly are:

Strategic control over a scarce resources, inputs or technology by a single firm limiting the
access of other firms to these resources.

Through developing or acquiring control over a unique product that is difficult or costly for
other companies to copy.

Governments granting exclusive rights to produce and sell a good or a service.

Patents and copyrights given by the government to protect intellectual property rights and to
encourage innovation.

Business combinations or cartels (illegal in most countries) where former competitors cooperate
on pricing or market share.

Extremely large start-up costs even to enter the market in a modest way and requirement of
extraordinarily costly and sophisticated technical know-how discourage firms from entering the
market.

Natural monopoly arises when there are very large economies of scale. A single firm can produce
the industry’s whole output at a lower unit cost than two or more firms could. It is often wasteful
(for consumers and the economy) to have more than one such supplier in a region because of the
high costs of duplicating the infrastructure.

Enormous goodwill enjoyed by a firm for a considerably long period create difficult barriers to
entry.

Stringent legal and regulatory requirements effectively discourage entry of new firms without
being specifically prohibited.

Firms use various anti-competitive practices often referred to as predatory tactics, such as limit
pricing or predatory pricing intended to do away with existing or potential competition.

MQV\,QpQL'Lgc’s rRevenue Curves: In the absence of government intervention, a monopolist is free to set

any price it desires and will usually set the price that yields the largest possible profit. Since the
monopolist firm is assumed to be the only producer of a particular product, its demand curve is
identical with the market demand curve for the product. The market demand curve, which exhibits the
total quantity of a product that buyers will offer to buy at each price, also shows the quantity that the
monopolist will be able to sell at every price that he sets.
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v" AR and MR are both negatively by sloped (downward sloping) curves.

v The slope of the MR curve is twice that of the AR curve. MR curve lies half-way between the AR
curve and the Y axis. i.e. it cuts the horizontal line between Y axis and AR into two equal parts.

v AR cannot be zero, but MR can be zero or even negative.

MQWQpQL'gﬁg are maiwtg Q_f two tgpﬁg; Simple monopoly where the monopolist charges uniform

price from all buyers and discriminating monopoly where the monopolist charges different prices from
different buyers of the same good or service. We shall look into equilibrium of a simple monopolist.

% it maxiwmdsation tin a Monopoli arket: Eguilibrivm oft nopol Flrm

Firms in a perfectly competitive market are price-takers so that they are only concerned about
determination of output. But this is not the case with a monopolist. A monopolist has to
determine not only his output but also the price of his product.

Conditions for equilibrium: The twin conditions for equilibrium in a monopoly market are the same as
that of a firm in a competitive industry.
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the monopolist is making profits or losses in the short run, we need to introduce the average total cost

curve.

c ATC

« COST/REVENLE

0

x

Can a monopolist incur losses? One of the misconceptions about a monopoly firm is that it makes profits
at all times. It is to be noted that there is no certainty that a monopolist will always earn an economic or
supernormal profit. It all depends upon his demand and cost conditions. If a monopolist faces a very low
demand for his product and the cost conditions are such that ATC >AR, he will not be making profits,

rather, he will incur losses.
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Egquilibrivum of the mownopolist: L n t rt run

Long Run Equilibrium: Long run is a period long enough to allow the monopolist to adjust his plant
size or to use his existing plant at any level that maximizes his profit. In the absence of competition, the

monopolist need not produce at the optimal level. He can produce at a sub-optimal scale also.
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PRICE DISCRIMINATION:

Price discrimination is a method of pricing adopted by a monopolist in order to earn abnormal profits.
It refers to the practices of charging different prices for different units of the same commodity.

’ ’

ympl iee diserimination are:

A Railways separate high-value or relatively small-bulk commodities which can bear higher freight
charges from other categories of goods.

A Some countries dump goods at low prices in foreign markets to capture them.

A Some universities charge higher tuition fees from evening class students than from other
scholars.

A Alower subscription is charged from student readers in case of certain journals.
A Lower charges on phone calls at off peak time.

Price discrimination cannot persist under perfect competition because the seller has no influence over
the market determined price. Price discrimination requires an element of monopoly so that the seller
can influence the price of his product.

nditions for price discrimination: Price discrimainagtion i sible ol under t

fQLLwa,wg conditions:

% The seller should have some control over the supply of his product i.e. the firm should have price
setting power. Monopoly power in some form is necessary (not sufficient) to discriminate price.

% The seller should be able to divide his market into two or more sub-markets

% The price-elasticity of the product should be different in different sub-markets. The monopolist
fixes a high price for his product for those buyers whose price elasticity of demand for the
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product is less than one. This implies that, when the monopolist charges a higher price from
them, they do not significantly reduce their purchases in response to high price.

% It should not be possible for the buyers of low-priced market to resell the product to the buyers
of high-priced market i.e there must be no market arbitrage.

Obiectives of price Dlserimination:
to earn maximum profit
to dispose off surplus stock

to enjoy economics of scale

to capture foreign markets and

O N I I

to secure equity through pricing

Price discrimination may be related to the consumer surplus enjoyed by the consumers. Prof.
Pigou classified three degrees of price discrimination. Under the first degree price
discrimination, the monopolist separates the market into each individual consumer and charges
them the price they are willing and able to pay and thereby extract the entire consumer surplus.

» Under the second degree price discrimination, different prices are charged for different
quantities of sold. The monopolist will take away only a part of the consumers’ surplus. The two
possibilities are:

a) Different consumers pay different price if they buy different quantity. Larger quantities are
available at lower unit price.

b) Each consumer pays different price for consecutive purchases. For example, suppliers of services
such as telephone, electricity, water, etc., sometimes charge higher prices when consumption
exceeds a particular limit.

* Under the third degree price discrimination, price varies by attributes such as location or by
customer segment. Here the monopolist will divide the consumers into separate sub-markets
and charge different prices in different sub-markets.

Under simple monopoly, a single price is charged for the whole output; but under price discrimination
the monopolist will charge different prices in different sub-markets. First of all, the monopolist has to
divide his total market into various sub-markets on the basis of differences in elasticity of demand. In
order to reach the equilibrium position, the discriminating monopolist has to make three decisions:

4+ How much total output should he produce?
4+ How the total output should be distributed between the two sub-markets? and
+ What prices he should charge in the two sub-markets?
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e Monopoly is often criticized because it reduces aggregate economic welfare through loss of
productive and allocative efficiency.

e Monopolists charge substantially higher prices and produce lower levels of output than would
exist if the product were produced by competitive firms.

e Monopolists earn economic profits in the long run which are unjustifiable.

e Monopoly prices exceed marginal costs and therefore reduces consumer surplus. There is a
transfer of income from the consumers to the monopolists. Not only that consumers pay higher
prices, but they would also not be able to substitute the good or service with a more reasonably
priced alternative.

e Monopoly restricts consumer sovereignty and consumers’ opportunities to choose what they
desire.

e Monopolists may use unjust means for creating barriers to entry to sustain their monopoly
power. They often spend huge amount of money to maintain their monopoly position. This leads
increases average total cost of producing a product.

¢ A monopolist having substantial financial resources is in a powerful position to influence the
political process in order to obtain favourable legislation.

e Very often, monopolists do not have the necessary incentive to introduce efficient innovations
that improve product quality and reduce production costs.

e Monopolies are able to use their monopoly power to pay lower prices to their suppliers.

e The economy is also likely to suffer from ‘X’ inefficiency, which is the loss of management
efficiency associated with markets where competition is limited or absent.
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TOPIC -2

Which is not characteristic of monopoly?
a) The firm is price taker b) There is a single firm
¢) The firm produces a unique product d) The existence of some advertising.

If a firm under monopoly wants to sell more its average revenue curve will be a line
a) Horizontal b) Vertical
c) Downward slopping d) Upward slopping

An industry with significant barriers to entry and a single supplier.
a) Perfect competition b) Monopolistic competition
c) Oligopoly d) Monopoly

Monopolists are able to practice discrimination because
a) They have constant marginal cost b) OF differing price elasticity of supply
c) They have constant average cost d) OF differing average willingness to pay
among customer
No close - substitution is characteristic of
a) Monopoly b) Oligopoly
c) Pure competition d) None

Monopoly is undesirable due to follow:-

a) It has prices higher than competitive b) It produces less output than
firms competitive firm
c) Itdiscriminates on prices d) All of the above

In the long Run, monopolist

a) Incur b) Want to short down
c) Must earn super normal profit d) Earns only normal profits
e)

Answer: 1(a), 2(c), 3(d), 4(d), 5(a), 6(d), 7(c)
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The practice of product and service differentiation gives each seller a chance to attract business
to himself on some basis other than price. This is the monopolistic part of the market situation.
Thus, this market contains features of both the markets discussed earlier - monopoly and
perfect competition. In fact, this type of market is more common than pure competition or pure
monopoly. The industries in monopolistic competition include clothing, manufacturing and
retail trade in large cities. There are many hundreds of grocery shops, shoe stores, stationery
shops, restaurants, repair shops, laundries, manufacturers of women’s dresses and beauty
parlours in a medium sized or large city.

A

Gap Levis JCrew

Same as pure competition except for
product differentiation

FEATURES OF MIONOPOLISTIC COMPETITION

o Laroe number Llers: In a monopolistically competitive market, there are large number of
independent firms who individually have a small share in the market.

e Proouct diﬁﬁmwﬁiatﬂgw: In a monopolistic competitive market, the products of different

sellers are differentiated on the basis of brands. Because competing products are close
substitutes, demand is relatively elastic, but not perfectly elastic as in perfect competition. Firms
use size, design, colour, shape, performance, features and distinctive packaging and promotional
techniques to make their products different.
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Large Number

of Firms
Product Free Entry and
Differentiation Exit
Monopolistic
Competition
Product
Vatiation Some Control
Heavy Over Price

Expenditure on
Advertisements
and Other Selling
Cost

o Freedom Qf gwt[g and exit: Barriers to entry are comparatively low and new firms are free to

enter the market if they find profit prospects and existing firms are free to quit.

o Now-price competition: In a monopolistically competitive market, firms are often in fierce

competition with other firms offering a similar product or service, and therefore try to compete
on bases other than price.
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Congdition, wiliborivm n individual firme: The conditions for price-output

determination and equilibrium of an individual firm may be stated as follows:
(i) MC=MR
(ii) MC curve must cut MR curve from below.
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Short run equilibrium of a firm under Short run equilibrium of a firm under
Monopolistic Competition — With losses Monopolistic Competition — With losses
Perfect Competition Monopoly  Monopolistic Competition

eV el o daiy e B Single seller, no difference | Large Number of buyers
Ehgecnaiinla g mitsnhilindi s between firm and industry | and large number of firms
industry in the industry

Homogenous products No Close substitutes Differentiated products

which are perfect which are close substitutes,

substitutes but not perfect substitutes

D Pt teEb i BV G BV Command over the whole Each firm is small relative to
market the market.

Competition among firms is PalN«=Ro) Folese)elc utateli] Imperfect competition

perfect

Complete absence of High degree of monopoly Some degree of Monopoly

monopoly power prevalls power due to perfect

differentiation

Free entry and exit Strong barriers to entry Free entry and exit

Price - taker Price maker Some Control over price

Price is equal to marginal Price is Higher than Price is higher than

cost marginal cost marginal cost

SRR EHR i ER R e ikl Ga High equilibrium price Price is high compared to

forms perfect competition

IS EN RGN ER il A Downward sloping and Downward sloping and
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elastic

MR and AR represented by
the same curve

TR Straight line positively
sloping through the origin
No Price discrimination-
same price for all units

No Supernormal profits in
the long run
No Selling Costs

Price being given, decides
only quantity of output
Product is produced at the
minimum average cost

Equilibrium quantity is
highest and produced at
least cost

No Consumer exploitation

Efficient allocation of
resources
No Wastage of resources

Qui(.k/'%

Notes ’

Feel free to
note your
thought.....

highly Inelastic demand
curve

more elastic demand curve

MR starts at the same point
as AR, and is twice steep
when compared to AR

MR starts at the same point
as AR, and is Twice steep
when compared to AR

TR inverted U shaped

TR inverted U shaped

Can practice price
discrimination by selling a
product at different prices

Depends on the extent of
monopoly power the firms
has

Supernormal profits both in
the short run and long run

No supernormal profits in
the long run

Generally low selling costs,
only for informing the
consumers

Due to severe Competition,
selling costs are vital to
persuade buyers

Decides on both price and
output

Decides on both price and
output

Produced at the declining
portion of average cost
curve

Product at the declining
portion of average cost
curve

Equilibrium quantity less
than other market forms

Equilibrium quantity less
than optima, there is excess
capacity

Consumers can be
exploited by charging high
prices

Consumers are influenced
through price and non price
competition

Inefficient allocation of
resources

Inefficient allocation of
resources

Wastage of resource

Huge wastage of resources
for advertisements
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TOPIC -3

Which of the following is NOT a feature of monopolistic competition?
a) Numerous seller b) Product differentiation
¢) Numerous buyers d) Homogenous products

Large price elasticity of demand available in
a) Monopoly b) Perfect competition
¢) Monopolistic d) Oligopoly

The structure of the Toothpaste industry in India is best described as:
a) Perfectly competitive b) Monopolistic
c) Monopolistically competitive d) Oligopolistic

Product differentiation is the main features of which market?
a) Oligopoly b) Monopolistic
c) Discriminating Monopoly d) Perfect competition

The long run equilibrium outcomes in monopolistic competition and perfect
competitions are similar, because in both market structures:

a) The efficient output level will be b) Firms will be producing at minimum
produced average cost
c) Firms realize all economies of scale d) Firms will only earn normal profit

Answer: 1(b), 2(c), 3(b)4(b),5(d)

Oligopoly is an important form of imperfect competition. Oligopoly is often described as ‘competition
among the few’. Prof. Stigler defines oligopoly as that “situation in which a firm bases its market policy,
in part, on the expected behaviour of a few close rivals”.
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( Oligopoly- Definition, Classification and Characteristics )

Oligopoly is a market structure in which there are a few sellers and a large
number of buyers for a commodity. In this, The sellers offer homogenous or
differentiated products by recognizing their mutual dependence.

Example of Oligopoly, Competition
@ airtel

Few number of Sellers Large number of buyers

+ Pure QL'LQQPQLg oY pﬁ[ﬁﬁct QLEQQPQLQ : Pure oligopoly or perfect oligopoly occurs when the

product is homogeneous in nature, e.g. Aluminium industry. This type of oligopoly tends to
process raw materials or produce intermediate goods that are used as inputs by other
industries.

compete with the existing firms. But, in closed oligopoly entry is restricted.

+ Collusive ang Cowmpetitive oligopoly: When few firms of the oligopoly market come to a

common understanding or act in collusion with each other either in fixing price or output or
and they compete with each other, it is called competitive oligopoly.

+ Partial or full oligopolly: Oligopoly is partial when the industry is dominated by one large

the price leader. In full oligopoly, the market will be conspicuous by the absence of price
leadership.

+ Sy ndicated and organized QngQpQLg: Syndicated oligopoly refers to that situation where

quotas, etc.

www. KITest.in

+ Open and closed QLIZQQPQL@: In an open oligopoly market new firms can enter the market and

both, it is collusive oligopoly. When there is absence of such an understanding among the firms

firm which is considered or looked upon as the leader of the group. The dominating firm will be

the firms sell their products through a centralized syndicate. Organized oligopoly refers to the
situation where the firms organize themselves into a central association for fixing prices, output,




Pure or
Perfect

Non - Differentiated
Collusive or
Oligopoly Imperfect

Collusive

and
Competitive

A Strategic M’cﬁrd@ﬁw&lgwgﬁ: The most important feature of oligopoly is interdependence in

decision making of the few firms which comprise the industry. Since there are only few sellers,
there will be intense competition among them. Under oligopoly, each seller is big enough to
influence the market. A firm has to necessarily respond to its rivals’ actions, and simultaneously
the rivals also respond to the firm’s actions.

A wportan dvertising and selli te: A direct effect to interdependence to

oligopolist is that the firms have to employ various aggressive and defensive marketing weapons
to gain greater share in the market or to maintain their share. For this, firms have to incur a good
deal of costs on advertising and other measures of sales promotion.

A Group behaviour: The theory of oligopoly is a theory of group behaviour, not of mass or
individual behaviour and to assume profit maximizing behaviour on the oligopolists’ part may
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not be very valid. There is no generally accepted theory of group behaviour. The firms may agree
to pull together as a group in promotion of their common interest.

Price making
power

LI

*
O

High barriers to

entry

Differentiated
products

A A = i

"Q' Interdependence o L E

. : ; e

b F of firms Maximize

i ! revenues

Cartels are often formed in industries where there are a few firms, all of which are similar in size. A
group of firms that explicitly agree (collude) to coordinate their activities is called a cartel. Most cartels
have only a subset of producers. If the participating producers stick to the cartel’s agreements, the
cartel will have high market power and earn monopoly profits especially when the demand for the
product is inelastic.

But it is possible that there is a dominant or a large firm surrounded by a large number of small firms. If
these firms are numerous or too unreliable, the large firm has to decide how to set its price, taking into
account the behaviour of these fringe firms. One strategy is to adopt a ‘live and let live philosophy’.
Specifically, the dominant firm accepts the presence of fringe firms and sets the price to maximize its
profit, taking into account the fringe firms’ behaviour. This is called price-leadership by dominant firm.
Another type of price leadership is by a low cost firm. Here, the price leader sets the price in such a
manner that it allows some profits to the followers also. Then there could be barometric price
leadership under which an old, experienced, largest or most respected firm acts as a leader and
assesses the market conditions with regard to the demand, cost, competition etc. and makes changes in
price which are best from the view point of all the firms in the industry. Whatever price is charged by
the price leader is generally accepted by the follower firms.

Thus, we find that fixing of price under oligopoly is very tricky affair and involves a number of
assumptions regarding the behaviour of the oligopolistic group.
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KINKED DEVMIAND CURVE:

It has been observed that in many oligopolistic industries prices remain sticky or inflexible for a long
time. They tend to change infrequently, even in the face of declining costs. Many explanations have been
given for this price rigidity under oligopoly and the most popular explanation is the kinked demand
curve hypothesis given by an American economist Paul

Y| d

L mand Curve un OlL L

+ Duopoly, a subset of oligopoly, is a market situation in which there are only two firms in the
market.

www. KITest.in 45




+ Monopsony is a market characterized by a single buyer of a product. Or service and is mostly
applicable to factor markets in which a single firm is the only buyer of a factor.

MONOPOLY MONOPSONY

+ Oligopsony is a market characterized by a small number of large buyers and is mostly relevant
to factor markets.

Oligopsony

Oligopsony is a market with a few powerful buyers and a large number of sellers.
-~
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+ Bilateral monopoly is a market structure in which there is only a single buyer and a single
seller i.e. it is a combination of monopoly market and a monopsony market.

Single buyer

Single seller

Quick/@)

Notes

Feel free to
noté your
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TOPIC -4

When the industry is dominated by one large firm which is considered as the leader of the group
the market is described as:

a) Open oligopoly b) Perfect oligopoly

c) Partial oligopoly d) Organized oligopoly

The reason for the kinked demand curve is that:

a) The oligopolist believe that competitors b) The oligopolist believe that competitors
Will follow output increases but not will follow price increases but not
output reduction output reductions

c) The oligopolist believe that competitors d) The oligopolist believe that the price
will follow price cuts but not price rises increases but not output increases

A highly concentrated market with just a few interdependent firms
a) Perfect competition b) Monopolistic competition
c) Oligopoly d) Monopoly

Collusion most frequently occurs in industries that are
a) Oligopolistic b) Monopolistically competitive
c) Monopolistic d) Perfectly competitive

Which types of Oligopoly occurs when the product is homogeneous in nature
a) Open b) Pure
c) Full d) None

What is / are feature (s) of oligopoly
a) Kinked Demand curve b) Cartel
c¢) Downward sloping demand curve d) both (a) and (b) are correct

Which market is having a single seller and single buyer?
a) Duopoly b) Monopoly
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c) Bilateral Monopoly d) One of the above

Which one of the following is not a feature of oligopoly?
a) Inter dependence b) Selling cost
c) Group behavior d) Free entry

Oligopolist will try to maximize profits by:

a) by charging more than perfect b) by charging less than monopoly
competition
c) by charging more than perfect d) none of the above

competition & less than monopoly

Kinked demand model is also known as
a) hypothesis model b) Keynes model
c) sweezy model d) none of the above

In kinked demand curve, the upper part has which type of elasticity?
a) Lessthan1 b) zero
c) greater than 1 d) none of the above

Answer: 1(c),2(c),3(c),4(a),5(b),6(d),7(c),8(d),9(c),10(c),11(c)

Quick
Notes

Feel free to
noteé your
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